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But there is the ‘claim’, etc. _ v5y3y mapw D

OVERVIEW

X" MK "7 claims that when the word 70> is mentioned in the 770 it is
referring to the specific silver coins of 1X. When there is no specific
amount mentioned; 70> would mean the smallest coin in X (which
according to *"wn is a 7wn). There is a 7wn in *NM¥Naw naon which the X na
cites to contradict the view of X"AX "9, The 7iwn states that in order to
obligate a *n¥pna 77 to take an oath, a claim of two (7vn) 703 is required
together with an admission of a 710, There are two ways to explain how
this 71wn contradicts X"IX "7 and the subsequent resolution. mdoIN will
discuss both explanations.

— 7405 NP RPITINY KD N30 ¥V 903 SDY 1N ‘090090 ws
>'"w9 explained that since the miwn teaches that two n®> are required for
n¥pna 77 D2, it can be derived from this that the 192 does not mean

specifically 78> (coins of *z) -
— ©995N1Y XIN 1901 XY NND W9 NIV 1999) 799D NIUYA NIMNN NON

But rather the ?05 is particular only that it be money (in general), and
since the m05 did not specify an amount of money, it was given over to

the 2°%51 to decide how much the 7vv should be to obligate a 72w -
— 9911 99823 NIWAYND 11D DIP XD
And the 2°»2011 chose not to establish a 7w if it is less than two qoo. >"vA
continues to explain why the word 7©> cannot mean a coin (a ¥ of ™M1X) -
— 9NRP NPYT 903 NP INT

For if the P02 meant 70> (a coin) specifically, then -
— 919 N3N 0NV 1N MNYAY NN YaVN NN NYNT M)

" This n9oI is a continuation of the previous (X,X*) 93 171"7 nwoOIN.

% There are six w» to the 7.

3 a,mh.

* A ngpma 77m is a defendant who partially admits and partially denies a claim brought against him. We
derive from 2’05 that he is obligated to take an oath to substantiate his denial.

> There is a dispute (in 2,07 MYAW non) between 27 who maintains that the monies denied (the practical
claim) must be two no2 (meaning that the initial claim must be at least two 702 and a V1Mo, and the
defendant admits to owing (at least) a 7v175 and denying (at least) two 502); and 7X¥W maintains that a
claim of (just) two 703 and an admission [and denial] of at least a V175 necessitates a 7y12Y.

6y "2,

71t is not referring to a specific coin of >M¥ (or its minimal coin [which is a 7w»]). This is in contrast to the
ruling of X"7X *"7 who maintains that the term 502 in the 7710 is referring to 11X 703 (and and 702 means the
smallest coin). According to them the 2105 specifically states that the issue is concerning (at least) a 7vn.
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Granted that a (700) nmwy» is the smallest coin in 7%, however from

where do the onon derive that two (702) 7Yn are required?® This (seemingly)
disproves the statement of X"2X >"3 that 71X o3 131 701 7.

"1 continues his explanation with the answer of the X7n3 that there is no contradiction
from the mwn to the ruling of X"IX >"7X:
— DY U X DY D95 NN YN
And the X answered, ‘just as 292 (in the plural) are two, similarly no>
is also two n02. We can maintain that 77n2 71KR7 703 is N 705 and we derive that
two 703 are required for a 1" n¥aw from the w17 of 7o3 to 0°25. The X3 continues:
— 402 XNV IV 11PY 1Y 1WA 937 899 N YN 131 905 T
And just as no> is a distinguished item, similarly the 2v%> must also be a
distinguished item, meaning that the 0°9> must be worth two no> -
— 1793 DN HNRTINA 250 PVNN Y 1YV C9ANT INNDI SPION

And this 7217 comes to exclude from the one who maintains that if he
claimed two needles are owed to him, the defendant is obligated to swear
the n"2m 2w if he admits to owing one of the needles. This 7" (who is being
excluded) maintains -

— NYAV 993 1799Y 29NY 1199 1nwnY Horvs 1Ny 195
Therefore 2v%> were specified to teach us ‘for a miniscule amount’,
meaning that by o°95 he is liable for a 712w with a minimal amount;
however this 7w77 of 121 23Wn 727 703 7 maintains (according to °"w7) that (even) by
0°%5 a mww of two 73 is required. This concludes the view of >"wA.

In summation: >"w7 maintains (according to X"7X >"7) that the smallest coin in ™MX is a
7vn.'* A mawvw of two nvn are required for »"2m ny1aw since we compare A3 to 0792
(plural). The P10 also compares 2°92 to 703 that (even) by 2°92 a miww of A0 "NV is
required (not like HX1mw)
>"wA continues:

— 9182V NN ¥aVN NN 9TV OIVYI919 1PMIAN

® The requirement for the 71yv should be just one 77vn, for the 77N writes (in 1,23 [2wown] NMnw) that 0 *>
A0 "3 which according to X" X >"1 means a 7vn.

? This conclusion is (seemingly) not relevant here to the discussion (according to *"w7') concerning "~
X"7X. However " (perhaps) mentions it to contrast it to 1°N127 5.

' This is the opinion of YXMWw X 73 27 in 2,7 MW,

" The 77 specified %3 even after it mentioned no3 for this purpose; that 793 *nw is not required for 0™3.
12 "1 maintain that since there is no 79 (of nw M) in X therefore to give MW to AWK W1 7p, a 117 is
required (see w1 7"7 R,X* "W).
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However, my teachers explain that the 9157 (not the [smaller] 7vn) was the
smallest coin in "> x -

— 199259 23V ¥NYN MNT Y NP NI MYN DNY G0 1Y 2INPTN 7°99)
And the question on X"2X °"7 was, since it is stated in the 7> snw 73w» (in
the feminine [>n]) and it did not state s12 (in the masculine) which would
have indicated two 799357 (for 7 is masculine as opposed to nv» which is

feminine); this proves that 70> is not *M1¥ 703, for if 70> were X AO> the AW 211
would be only if there was a 71¥v of 702 *1w which means two 1°71°7 and not two myn.'

*"w1 continues with the reply of the X3 (according to 11°n127 "D):

—2IYN 927 NP YN 927 U 9N 2IUN 937 0D NI NPM
And the X3 answered that we compare 702 to 0°73 in the sense that just
as 2%> is something distinguished, so too by ng> it needs (only) to be
distinguished, and a ny» is a distinguished item. This concludes the w1’
11°M127 which *"wA cites.

In summation; the 12°n127 maintain that the smallest coin in 1% was the (silver) 11°7. The
question on X"7 X "7 from the 71wn is; why is the myn snw 1YY instead of 217 Ww?!
The &3 answers that we compare 703 to 2°93 just as 293 refers to a 23Wwn 127; similarly
by A2 a 23wn 727 (a 7vn) is sufficient for the 71wy (the fact that two are required is
assumed from the same 7172°9).

"w1 disagrees with 1°n127 W7%9:
— 9357 NN NN MIND G0 Y3719 DX XTN XAV NA NYP 117D

And I (°"v") have many difficulties with this explanation; firstly if it is
indeed so as the 17°n127 maintain that 7mI02 TMMKRT 702 ¥2 is a "7 -

— N9 P91 NYIPIN TH NN 290
Then how can the w»57 come and extract 70> from being a 72°7 and converting

it into a nyn -
— ISNS'\N‘T NN 02V 9023 9N OV oY Hn ]J’M):WN& NYIPIN NN 22 NN

For the wpsr is already teaching us that just as 2v%> means two, similarly
o> means two (but not to lessen 703 from a 131°7 to a vn) —

"

w1 poses a second question on 11°N127 W17%D:
— NN 2IYN 937 VNN ) YN 927 DT N1 TINP INID NI

" This would readily explain why "2 require a 127 for WX *w17p (see previous footnote # 12).

" 1t is apparent (according to 11°M27 “9) that the Jwpn understood that it had to be ‘two’, since we are
comparing 703 to 0°73; his question was that it should be two 1117 and not two my».

' The wp>n is already being used for a 77°%; why should it change the implied meaning that 703 is a 1277?!
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And in addition what is meant by, ‘just as 2v9> is a distinguished item’;

is a needle a distinguished item?!
— VNN YBYN NKY RNYN INWNRY D92 INSS 799 9N N

But does not the X 3 state that 2°9> were mentioned specifically that
there is a liability of a 7312w (even) by a ywn, this (referring to needles as a
17wn) indicates that needles are not distinguished!

"

Finally >"w" asks a third question:

— 2N 927 09 GN YN 927 YD N1 NN ann MmN XTHa NI
And furthermore it states clearly in the X713 there, the opposite; just as
no> is a 21N 927 so too 2% are to be a 211 M27; while according to the 121127

it should read just as 2°93 are a 2% 927 so too 703 is a MW 1237 -
— 1YY 1N 1Y ROR *AYaT 709 8ON 99 0

And ng> was specifically mentioned in the 770 for this mw=7 that the 0°%5
need be a 23wn 727, This concludes the citation of >"w7s.

In summation; >"wA asks three question on 12°n127 "o. 1. If 102 means a 71’7, how can the
wp i (to @°92) change it, since the wp*r is utilized to teach us that two 702 are required. 2.
How can we say that 0°95 (such as needles) are a 23wn 127. 3. The X723 actually states this
wpi1 of 23Wn 127 to teach us that 2995 need to be a 23wn 727 [as 703 is], not the converse.

mooIn challenges *"wA:
— YN NI NVIY MND YA0NT 1153 37w WI9 by NYDN PNYY 13939

And the "9 asked on >'"w+9'2; since the smallest coin in "M% is a 7y»
(according to >"w7D) -
— %N NNIPIN NVINDN NINPIANT 1993 919912D DY 7Y »29N
How is it at all possible to say that since we excluded 1u7°p 705 from
being a 71V (since it states 702), therefore we established it to be a 21°7?!
—INAY NN ¥YAVN NINY NYNN 9199199 1Y NN

They should have said ‘for a 7v»’; for that is the smallest coin in %!

mooIn responds to an anticipated question:
— 3N NPIN NVINON NINPIANT 199 MINT (x,30 97 IPY NPOWAY

16 In 2,05 nmwraw noon.

175"y adds this to prove that the X0 in Maw is correct that 403 teaches us the rule of 21w 127. The X 23
says that 27 does not use 703 for 21w 7127 since he needs it to teach us that 7793 is 703 *nw. It is therefore
obvious that (according to ?X1w) o3 is used for the w17 of 23wn 727 and not 2°73 as 1°nN121 would have it.
'8 This follows the view of »Xmw that 7o3 was not written to teach us that the actual claim is 793 *nw (as 21
maintains), but rather that 21wn 727 703 i1 (see previous footnote # 17).

" The question(s) refers back to *"w7s (cited in 93 7"7 M20IN on X,X°) that a 7vn is the smallest coin in .
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For granted later where the X »x states” since we excluded it from a

muMD we established it at a 9357, there it is logical, for -
— 1199297 NNIN 22X DI 929Y NN NVINDT NINIYNT 92 19N

That statement was made after we realized that a w192 is considered no2

concerning an ;75927 RN -
— 2AIVYN 929 MNNT ITIR DINPIN 90 AT NVIN9N NIXNPIANT 112

And since we excluded 7wx vvp from a nwp which is n9s, we

established it at a 9197 which is a 2wwn 927 -
— P9 13991 1YY NS YAV NNIN NV NI »INAT 9INRT NHWH AN

However now that we are assuming that there is no 799 in "M%, this

indicates that their smallest coin is a 7Y%, so -
— NOPIND 19 70 APAN DOY HNPIN INAN 1IN D091 INPIANT 33) ¥1)

Granted even that we exclude a w2, but why establish it at a 23575 we
should have established it at a 7yn?!

An additional question on >"w7:
— 9INT INNDN SPIOND NONT WIIT NYP 1IN
And there is another difficulty; for >'"'w9 explained that the teaching of 7n
wn 127 2°9 AR 2Wwn 027 700 comes to exclude from the one who
maintains -
— 2%N7 1719 NNNRA I DTN PONN SNV NPV
If he claimed two needles and he admitted to one he is 2% a »"21m nyaw,
but how can that be -
— VYN 927 902 NNT DYHT TNT YIVUN (3,05 91 DINTN NIV P92 NNT
For in 219777 nyaw 7o it seems that this 7w=7 of 21w 927 e "X -
— NPINT NI 1199999 NAN 93 D3 19 N0 2997 ZHNINYT XN SNN
Is according to ®Xmw, for 21 maintains that the 7710 wrote ne2 to teach
that the denial must be 705 °*nw, and not to compare 0°73 to fo2. It is ?X1W rather who
uses the wp i1 of 21 21wn 127 o2 1. How can °"w1 maintain that the wp°i of 121 703 1n

excludes 1unn, when 281w who uses this wpi7 of 121 21wn 127 702 77 also maintains that
one is 21 a "M Ny by Pomm nw!*

20 wp? 12 w" offers an alternate reason why "2 require a 13°7 for WX *wp. The w"a derive TwR W17°p
from 77°72v77 7K; just as the 1p of an 777127 7K requires more than a Y15 (as the X713 explains) therefore
by AwX "w17°p also more than a 7YYo is required. Once we know that 1"w17°p require more than a 70D it
was established to be a 71°7.

2R (there) states that the P10 of 0°93 X 703 "3 10> 3 supports the view of PXw that the 7795 need not
be 70> °*nw (as 21 maintains), for the word 702 teaches that 121 23wn 727 702 7 (and not as 27 maintains that
the word 70> teaches that the 77°92 must be 702 °nw).

22 See "w in 7 "7 2,00 My1w that the Xo3 (there) is AW 127 93 AR 1Wn 727 703 77 and not 127 2722 AN
W'y 2w,
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In summation; NN asks two questions on >"w70. 1. If the smallest coin in "X is a 7y»;
why do w"a require a 71°7 for AWK *W17°p. 2. How can *"wA state that the w7 of 227702 n
"9 2wn comes to exclude the 17 of XMW concerning 1vnn N, when it is XMWY who
uses this wp°771 (not 27).

mooIn offers his interpretation:
— KW NMNDN YAV N 99977 1PN DY YWDV 1D PNY 13939Y AN9) 19Y

Therefore the 3''9 favors the interpretation which >"v" cited in the name

of n121 that a 9157 is the smallest coin in X. This readily explains why ©"a
require a 2°7 for PWITP (according to OX 27 KR V).

mooIn responds to the question of *"wA on 1°N127 o:
— 715 RPOMY RYIPN NINN 2551 9977 191N MNINN G0 53 INT 7YY NYPNIY N

And that which s"w9 asked if all 5o> which is written in the 7™ is a

1197, how can the wps7 come and exclude it from a 717 and make it a avn

concerning NXpn1a a7n -
— NON DY 909 GX DY DD N1 JIWINYNRY NYIPN RN 25 NN

But the wp>7 comes to teach us (something else) that just as 2w 2%> so
too 1o2 is 2°1W (but not that 29w 727 0°75 171 s0 too WA 727 A0 AR) —

mooIn replies:
— NSNNY YPIN PR RNT 31N vy Awp XYY N9

It seems that this is not difficult at all, because there is a rule that there is
no half-a-wp°7; once there is a w11, we derive all the rulings possible -

— VYN 927 223 173919 13299) DY 12399 129909 2290 I
And just as we derive from 2%%> the idea of ‘two (q02)’, we also derive
from o°%5 the requirement that it be (only) a 29217 937 (which is a 7n).

mooIn answers the second question of "
—1YNY DY INYS 75D 0NN 1929INX XN NXIN 2IYN 927 VNN ) HYPHIY I

And that which >"vn asked is a needle a 2ywn 927, for the X7n) states

there that, 2°%> were specified that even for a ¥1wn there is also myaw arm;
(seemingly) indicating that 0°75 are not a 2Wwn 727 —

mooIn responds:
— N9Y1 NONDN 12 MYYY NNV D11 MIAYN 13 W VNN IPANT NYP KDY 993 NN

This too is not difficult; for even a needle has great n2swn, for it can be
utilized that great works can be accomplished with it -

2 The n"271 M amends this to read X9
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— 1Y NIY NPT IND 1Y NNY 0D INY DN MINPT N
And that which the X 13 states, 372 2% 2% IR, the term 372 2% does

not mean precisely 372 2% (indicating something trivial less than a 7017) -
— n0Y99 MY NASY TN AP DIV 250 NOIY 193 NYT ¥IONY NIN

But rather it means to exclude the requirement that it be worth a mw

mvn, but it must be a 7w MW -
— 51 NONYN 13 MUYY NNIY U 5T MAIUN ©IPN Y99

And nevertheless (even though it is only a 7v175 mMw) there is a great
mM2wn in a needle for it is fit 72173 7oK 12 MwYs.

mooIN continues, refuting "7 third question:
— 27999 NOWP ND 923 NN NIDIN 12209) MMNAVWAT AWPNY NN

And that which >"v1 asked that in nww2w noon we are ©913 the opposite
(121 2w 127 705 77 and not 121 2WR 127 295 1), that too is not difficult at

all -
— NPINN 3719 02 1Y TIVN XY INMYY 130 onnd

For there in myaw that 7w17 is according to ®X»w who does not utilize

the word n©> for other things (as 27 does) -
—2)VUN 937 19937 095 Yy 1257 NN NYY YWIIN

So therefore he can interpret 70> to teach us concerning 2°%> that a 227

2w is required -
— 19959 903 DIt 297 X2YN NON NN YaN

However here we are following the view of 29 who establishes the word

ne> concerning the denial (that the amount of the denial must be 705 and not merely
anmMy) -

— YN 937 DNV DY P9 MYTHINMIN niata )
So according to him both nw=7; the 7w17 of a%uw and the nwA7 of =937

2w are derived from 2%9>.

In summation; NoOIN responds to the three question of >"w7 on M32a7 . 1. The wp>i can
teach us both that 03w is required as well as a 23wn 127, since A¥AN? WP PR, 2. 092,
since they can be utilized, are a 21wn 727 (provided they are a V175 MWw). 3. The X3 in

* There is a difference how to measure a 21wn 127 concerning 703 and o°%3. Concerning 0°%> which can be
utilized, even a M5 MW (but not less) is considered a 23w 727 (such as punn). However by 10> which
have no utility, (only) a 77v» (or more) is considered a 271 727.

> mpoIn maintains that our 7wA7 of WA 927 2%93 71 is according to 27 (not HRmWw). Nevertheless nmoon felt
compelled to explain that when we say according to PX1w that 17w 1% 0°93 WY it is &P17 > (for it must be
worth a 7u179); even though nMooIN seemingly could have answered that according to PXmw we say 073 XY
17w 7n? and according to 27 we consider 273 a 2wn 727. It would be to far fetched that 21 and Rmw
disagree to such an extent; therefore Mo explains that both 27 and YR agree that 0°93 are a 2wn 117
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Maw which states 2w 727 702 7 follows the view of XMW and our X3 which states
1w 27 2°93 77 follows the view of 2.

mooIN questions the 1N127 WI7°a:
— NYP NYN NI S9INAT 9INT 1T WIT9T 11910)

However according to this explanation (of the °"wa 5w 1°'ma7) which

maintains that there is no 77v» in 713 there is a difficulty -
— P91 D9IYY 139901 DPYN N9 DXIYY (1o xp) 29N NPT

For it is written ‘twenty ;173 to the Ypw’, and the 21370 renders it twenty
PN -

— 9NV 9053 HYN %3 NYN NNN NNON
It is evident there was a 77v» in the days of 7w» included in the no2 of the
a0,

nv0IN answers:
— Ty 1w 1Y Nun e ndn YPYN NON NYNI NN KXY D97 0N 13929 99INY

And the n'"1 answered that the 793 was not a 7v», but rather there was a
certain weight in the time of 7w» which was the equivalent weight of a

avn -
PPN HININIPI Y20V 19199 VY IV

And later they made a coin of this weight and they called this new coin, a
avn.

SUMMARY

(321 Bw) v

5"

The X%

a7

v

The smallest coin in ¥

A 117 1s the smallest
coin in "MY

There 1s no YD 1n
X, therefore it was
established as a 717

The reason ¥'"2 require
arT.

Why aren’t two D17
required for n"2m.

Why are two
required for n"2m

YN

The question: X177 X792

"21 2w 127 vk A

91 21w v on

The answer

QIY 900 AR 2w 295 n
and 2w 727 2°90 1n that
only a 7¥n is required

0°1W nO3 AR 271w 2°93
and 2)wn D27 700 01 to
exclude 1onn

The complete wpr

% 15 P09 reads PpWi T 703 WY WP Dpwa 7o 797w 9. [It is not clear why they did not cite the earlier
P109 in ¥, (Xwn) Nnw where it written Ypw: 773 0wy and the 010N translates Py WY, ]
*7 7373 was a weight measure, not a coin 7iwn 2. In the time of D17p1X there was a 7yn coin which weighed

a .
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NIDVIN questions on
'R

NIDYIN answers on
s'Y'"'wa questions

s'v''wa questions on
ARrah)

If the smallest coin in
MY is a 7vn; why do
v"2 require a 7 for
WR WP

XN WP PR

If 70> means a 73°7 how
can the wp>n change it,
since the wp 7 1s needed
to teach us that two 702
are required

How can >"w" state that
the wp 1 of 927 Ao n
121 2Wwn comes to
exclude the 77 of HX1W,
when it is SXmw who
uses this wpn.

They are fit for a 79897
AvANp!

How can we say that
°70 (such as needles)
are a 21w 12T.

That X3 1s according
to PX1w and our X3 is
according to 2.

The X} n Myaw
states this w1 that 1n
2N 127 70

THINKING IT OVER

1. According to 27 what are the requirements for a n"21 ny2w if the 7793
TRTIM was concerning 0°72?

2. mMo0In (in accordance with the 1’127 "5 that the smallest coin in "X was a
71°7, not a 71¥n) maintains that there was no 7v» in the time of 7wn. Why then
do we interpret 0°93 X 70> "\ 0 3 to mean (two) nvn, when there was no

7y 1n circulation at that time

028

2 See n"nx footnote # 147 and 317 MK *"™A.
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